THE THIRD LEGACY PROCEDURE

B a" Ot 1 Does one candidate have No YES ) Candidate with 2/3 majority is elected

2/3 majority of total vote?

B a" ot 2 Does one candidate have No YES) Candidate with 2/3 majority is elected

2/3 majority of total vote?

Candidates with less than 1/5 of total
vote are withdrawn - top candidates
and all runners-up must remain

B a" Ot 3 Does one candidate have No YES J Candidate with 2/3 majority is elected

2/3 majority of total vote?

Candidates with less than 1/3 of total
vote are withdrawn — top candidates
and all runners-up must remain

B a" ot 4 Does one candidate have No YES J Candidate with 2/3 majority is elected

2/3 majority of total vote?

e

Motion Passed Motion Defeated

Go to the hat

2/3 majority of total vote?

%

Go to the hat

B a" ot 5 Does one candidate have No YES) Candidate with 2/3 majority is elected
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